[ Efficiency vs vertpos |
= 0.1
£ 0.09
g
5.0.08
8}

30.07
o

.................................................

.................................................

$0.06 : :
0.08ffr - if ooy SR R s
0.04 ; :
0.03f |- Tt ¥
0.02
0.0 #

............................................

UARE LN LARAN LA RARR

"y
d

-

-
ki

0.05t : :
1072 107 1

—ehoC

11111

10 0?
TP vertr (cr%)
Efficiend —— %g

Icw 4Zg§8§..n{vcw. +660evt
ﬁs %%igﬁ 1RO TLIERS 1000evt
~ 0.1

R §’ """" § """" §’ """"
o . : . : .
L S B e S
2 Eo P 1 e : :
50.07 : : ;
£ 0.06F++-obeeeeeefi et ff
o : : : :
0.08F-+++ooeroft |-t
0.04F -+---ieeeeeeafi * LA
0.03F-++-beeeo-fhr *
0.02F+-weenee + ,
0.00F-+-++cheeeeeeft frreeebene ]

g
o
1 a9
T T T

993520 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~n 0.2
> T R
e O e S S A
£ o L
016 N
2014: R S S
Boagfder b b
0 N O U O o
0.08F oo i ool

efficie

£ + : : : :

(003 SERETHPEEPE I ¥ P PP T PPEPRt| EPE CEPEPTEPERS

P T
: : ; ; L :

Ratio

SRS R R TITTHRIT: .

09510 5 0 5 10 1520
Sim. PV z (cm)



	Contents
	Page 1


